
John Deere > Construction And Forestry >LOADER, FOUR-WHEEL DRIVE >944K - LOADER, FOUR-WHEEL DRIVE >944K Loader (PIN: 1DW944K_ _ _E669456- 
)(Engine 6135HDW08) (PC11360) >16 Vehicle Electrical Systems >1671 Batteries, Support and Cables >Batteries and Cables (4 Batteries) ( - 686916) - 
ST826974

Copyright © 2020 Deere & Company. All Rights Reserved.



John Deere > Construction And Forestry >LOADER, FOUR-WHEEL DRIVE >944K - LOADER, FOUR-WHEEL DRIVE >944K Loader (PIN: 1DW944K_ _ _E669456- )(Engine 6135HDW08) (PC11360) >16 Vehicle Electrical Systems >1671 
Batteries, Support and Cables >Batteries and Cables (4 Batteries) ( - 686916) - ST826974

KEY PART NO. PART NAME QTY REMARKS

1 TY23020 Dry Charged Battery 4 4D Cold Cranking Amps at 0°F (-18°C), 
1400-Minute Reserve Capacity at 25 Amps, 
SUB FOR AT175966

2 AT442614 Battery Cable 2 Battery to Battery

3 T217516 Angle 2

4 T213611 Hook Bolt 2

5 24M7298 Washer 2 8.400 X 25 X 2 mm

6 14M7396 Lock Nut 2 M8

7 AT41188 Switch 1 Battery Disconnect

8 T42199 Label 1 Battery Disconnect

9 AT38449 Ground Cable 1

10 19M7784 Screw 7 M10 X 20

11 AH77869 Clip 7

12 R44302 Tie Band 1

12 A-14B505 Tie Band 1

13 AT396019 Cable 1

14 AT396668 Battery Cable 1 Positive

15 24M7240 Washer 1 13 X 25 X 3 mm

16 E64052 Nut 1 SUB FOR T134103

17 AT396680 Battery Cable 1 Negative

Copyright © 2020 Deere & Company. All Rights Reserved.


